RigidCore™ Flybarless Head
Exploded View

g -
M3x16 Stainless Steel
° °
a»

M5 Stainless Steel

O-Ring

(insert in Dampener)
Thrust Bearing

(Smaller ID on the

Screw Side)

~~m Maln Blade Grip

y . 160D x 1T
FBL Dampener ") spacer

M3 Ball
o J

)

Thick Ball Link

' M3 Long Ball
—

“—w

M5 Flat Washer
M5x14

M5 Locknut

Swashplate Assembly
(Not included in head kit)

/ o M3 Long Ball
M2x12 Pin
M3x20 Button Head

M2.5x85 Threaded
Rod

‘ Thick Ball Link

Note:
Use Blue Loctite e in all threads except in the M3x12 and M3x8 screws for the FBL Pitch Arm as well as

the M4x8 in the Yoke attachment to the main shaft.
In those cases use Red Loctite indicated with the red dote.



BladeGrip Detail

M5 Stainless Steel

\ O-Ring
(insert in Dampener)

Thrust Bearing
(Smaller ID on the
Screw Side)

‘Main Blade Grip

160D x 1T
M3 Ball : "/ Spacer

’- FBL Pitch Arm

M3x8

M3x12 M5 Flat Washer

M5x14

Follower Arm Detalil

M2x12 Pin
M3x20 Button Head




Yoke Detail




Threaded Rod Lengths

n

= | ( 7 g—
. M

-
104mm (aprox) x 2 '/' »
)

"

M
1) >
| &=
‘.\ \-!- I'._?.

-

i

54mm (aprox) x 3

Note: Distances are from center of ball to center of ball



